CRYPTOQUIP
STIW SXVKL XMC GJKK

CNGKIQJWOXMI IVGT JI “IGZIQ,
IWJKKOXM!” JTML “IGIW,

IWCCL!”? TXZIC ITXXI.

Yesterday’s Cryptoquip: AFTER 1 BECAME
STARTLED BY A LOUD CHIRPING INSECT IN
FRANKFURT, I SHOUTED, “GERMANY CRICKET!”

Today’s Cryptoquip Clue: G equals C
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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